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1. w7 Tey Rofd e .. 1x8=8
Choose the g:orrect answer : '

(@) W@mﬁaﬁﬁwﬂ%ﬁ’%ﬁﬂﬂmﬂm
oroRIfA® IR ? |
Which one of the following thinkers
influenced Auguste Comte’s sociological
thought?
i o= 5% / Saint Simon
i) o T / Adolphe Queételet
(i) T AN / Herbert Spencer
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(3) 3

(d) WWW@M@WW
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Who was the first thinker of the theory of
“social evolution in sociology?

(i) e JORICED
Charles Darwin
(i) T PR
Herbert Spencer
(i) T TR
Emile Durkheim

.The Elementary Forms of Religious Life

(e
A e o (P ?

writer of the book, The

Who is the ,
of Religious Life?

Elementary Forms

() T

Emile pDurkheim

) v N
Max Weber
i) oA
‘Robert K. Merton
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exteriority and the other ig
(i)

o Srwnfer objectivity
14

Ao / constraint
(iii) ere; / reality
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(afScor 150 %S foow) : o 4%4=16
Write briefly on any four ‘of the following
(within 150 words each) :* '

(a) AN

Positivism

(b) R BT TS
~ Auguste Comte_’s methodology

() T TR TS S
Social facts as propounded by Emile

Durkheiin

(d) =l 2R
Idealtype = ..‘r; ’

(e) TSR

. Reference grqup. ‘

i TR
" Middle range theory
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about the

Auguste Comte.
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of human progress
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Explain about the sO

What is function
the functionalism o
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